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PART—A
GENERAL ABILITY AND INTELLIGENCE

1. Which one among the following metals is Which of the statements given above
not a ferromagnetic material? isfare correct?
fa) Cobalt fa) 1 only
fb) Silver fb) 2 only
fc} Iron fc¢f Both 1 and 2
(d} Nickel {d} Neither 1 nor 2
2. What is the length of a simple pendulum, 5. Which ﬂ.f the follawjng‘ o ﬂlﬂ mijor
which has a frequency of 0-5Hz contaminants from industries and
a households that canuse cultural
[take g=10m/s")? e
eutrophication?

) 1 m {a) Chlorine and aldrin
(b) 2 m ib) Mercury and nitrates
fej 1:5m c) Witrates and phosphates
(d 3 m {d) Phosphates and ammonium
3. Ecotone is a 6. The arrangement and distribution of

fa) diversified ecosystem flowers over a plant is called

a} flowerin
(b} transitional ecosystem (@) 5

b  inflorescence

fc} thalamus

fc] transparent ecosystemn

{d) stagnation ecosystem
fd) aestivation

4. Consider the followi tate ts about
s e istamdiin 7. Lichens represent  the symbiotic

stem cells : relationships between algae and fungi.
1. B5tem cells have the potential for The algae component present in lichen
self-renewal via mitotic cell iz best known as
division. )
2. In 1908, James Thomas and his 5 R
colleagues first derived human fb) phycobiont
embryonic stem cells from donated fe) prion
blastocysts  through in  witro
fertilization. (d) symbiont
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8. Fruit formation from the thalamus 12. Which one of the following is an example
instead of ovary is known as false fruit. of a physical change?
The most common examples are
fa) Ripening of banana
fa) orange and mango
{b) Souring of milk
(bj mango and banana

fcj Melting of ice
fe) apple and strawberry

{d} Passing CO, gas into water
(d) guava and cherry 4

; . Rhizobium is a
9. The process of degradation of humus by 13 BRIV

some microorganisms and release of

) biopesticide
inorganic nutrients is known as faj p

fa) eutrophication (b) biofertilizer
(b} mineralization fcj bicherbicide
fe) humification (d) mycoherbicide

fdj stratification
14. A solution has a pH value around 13-0.
The solution may be called
10. Which one of the following human cells is

devoid of a nucleus? fa) a strong acid
fa) Nerve cell fb) a strong base
(b} Bone cell fc) neutral

fcj ERed blood cell (d) a weak acid

{d) White blood cell

15. Which one among the following elements

; : . » highest catenati TIy?
11. The chemical formula of washing soda is has the higneat catenation prope

fa) NaHCO, fa) Silicon
{b) Na,CO4 fb) Carbon
fc/ Na,CO5-10H,0 fe) Nitrogen
fd) NaOCl {d) Oxygen
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16. Consider the following statements 18. Which one among the following is net a
regarding landscape : west-flowing river?
1. Bhabar is a narrow belt ranging )
between 8 km—-10 km parallel to fa) Mahi
the Shiwalik foothills at the break-
up of the slope. ) Batias
2. Bhabar is a belt consisting of old ¢/ Luni
and new alluvial deposited by
rivers. (d) Sabarmati

Which of the statements given above

: .
is/are correct: 19. Which one among the following cities in

fa) 1 only India is located at the Northernmost
latitude?
fb) 2 only
fc) Both 1 and 2 (a) Sri Ganganagar
fdj MNeither 1 nor 2 {b) Nainital
17. Match List-I with List-Il and select the fc) Gangtok
correct answer using the code given
below the Lists : fd) Itanagar
List-T List-I
(Natural disaster) (Category) 20. Consider the following geographical
conditions :
A. Blizzards 1. Terrestrial
o . . : Well-drained, rich friable loams
. Soil erosion 2. Atmospheric containing good deal of minerals,
B et 3. Biological temperature between 15 °C-28 °C and
rainfall between 150 em-250em and
D. Locusts 4. Aquatic altitude variations from 600 m-1600 m
Cuode
Which one among the following crops is
fa) A B C D suitable under the above conditions?
3 4 1 2
(b) A B c D faj Tea
3 1 4 2
) A° B € D fb) Coffee
2 1 4 3
fc) Cocomut
fed] A B C D
2 4 1 3 fd) Cashew nut
KASC-A-GIP/S5A T | P.T.O.
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fc) SRR &5 A B £ D
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g o i

fa) FHOE (a) =faror-qe st
() Tieli (b} TE-ufEm 9

fc) Teatt (c) Efeis

(@) (d) -l s
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21. Manikaran in Himachal Pradesh is better 24, Match List-I with List-Il and select the
known for correct answer using the code given
below the Lists :

(a) bioenergy List-I List-IT
(Tribe) (Dominating region)
fb} paper industry
A, Gaddi 1. Rajasthan
fe) food processing industry B. Munda 2. Andaman and

Nicobar Islands

{d} geothermal energy
C. Bhil 3. Jharkhand

D. Jarawa 4, Himachal Pradesh
22. Which one among the following States in
India shares a boundary with the most Bk
number of States?

fa) Uttar Pradesh faf A B C D
3 4
(b} Telangana b A B o D
2 3
fc) Chhattisgarh

fc A B C D
fd) Assam

@@ A B € D
3

23. Which one among the following places in
India is known for its association with
the pharmaceutical industry? 25. Which one among the following is not an
area of Marine West Coast Climate?

(a} Ballarpur
fa) South-Eastern Australia
bl fb) North-West Europe
fe) Sindri fc) WNew Zealand
(d) Mettur (d) North-West Africa
KASC-A-GIP/5BA | P.T.O.
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26. Which one among the following 28. Who among the following was involved in
statements with reference to the the formation of the Bombay Presidency

i i iation in 18857
Harappan burial ritual is not correct? Association in

fa) Pherozeshah Mehta

. 2 l'_]:l d ﬁ.d ]

fy Ar thene burisle; ‘e dend: wers (b} Dadabhai Naoroji
generally laid in pits.

fc) Allan Octavian Hume

(b} The burial pits were made in ({d) M. G. Ranade

several different ways.

29. Which among the following was not a
(cj Ornaments have sometimes been member of the Adhishthana Adhikarana
found placed in these burials. of Kotivarsha in the Gupta period?

fa) Sarthavaha
{d) Harappans did not bury mirrors
with the dead. (b) Mahattara

fc) Prathoma-kayastha

{d) Prathama-kulikae

27. Consider the following statements with 30. Consider the following statements about
i the emergence of national conscious-
P e ness in India between the 18th and 19th

1. Rudramadevi is also known as centuries

Raya-gaja-kesari 1. The spread of printing press and
education, and inflow of modern

2. The inscriptions largely project her ideas helped Indian regeneration.

as a hercic king not queen,

b

The reform movements helped
develop a sense of national unity
Which of the statements given above among the people.
is/are correct?

Which of the statements given above

fa) 1 only iefare correct?

fa) 1 only
{b) 2 only
fc) Both 1 and 2

(b) 2 only
fe) Both 1 and 2

fd) Neither 1 nor 2 (d) Neither 1 nor 2

KASC-A-GIP/55A

[ P.T.O.

Download FREE UPSC E-BOOKS _ &

[ CUCKHERE™ )



https://iasexamportal.com/study-kit
https://iasexamportal.com/ebook

CGet Printed Study Notes for UPSC Exam -

31. w9 T & fat # wwlon wn agieerer @ 87
fa) T T e Hef
(b) T FE-TH el
(cj TWE F UF AF-EY

(d) T A arEa

32. qfdFen ° o e F AP IR -84 w9
Tyl w1 | 39 U T9-wae €9 % 90
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31. What is Hallisalasya as depicted in Bagh

cave paintings?

fa) A classical dance form
(b} A folk dance form

fe} A folk form of theatre

fd) A percussion music instrument

32. One of the frequent representations of

Shri Lakshmi in sculpture is in her
Gaja-Lakshmi form. Consider the
following statements about such
Gaja-Lakshmi form :

1. The goddess sits or stands on a
lotus.

2. Bhe is flanked by two swans.

Which of the statements given above
is/are correct?

fa) 1 only
(b) 2 only
fe) Both 1 and 2

fd) Neither 1 nor 2

33. Consider the following statements about

the historical evidence of inscriptions in
India :

1. The oldest deciphered inscriptions
are in Brahmi and Kharoshthi.

2. The earliest inscriptions in the
Tamil language are copper plate
grants,

KASC-A-GIP/55A
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Which of the statements given above
is/are correct?

fa) 1 only
b)) 2 only
fe} Both 1 and 2

fd) Neither 1 nor 2

34. The Dakshinamurti (South-facing) form of

Shiva represents

fa) cosmic dancer
(b ferocicus warrior
fe) universal teacher

fd} lord of beasts

35. Consider the following statements about

the *Quit India’ Resolution of 1942

1. Its text was carefully drafted to
make it clear that it put India
among the countries at war with
the Axis Powers and fully aligned
with the Allied Powers (United
Nations).

2. It  called upon Britain to
immediately hand over power to an
Indian Provisional Govermment
composed of representatives of all
sections of the population.

Which of the statements given above
is fare correct?

fa) 1 only
fb] 2 only
fe} Both 1 and 2

fd) MNeither 1 nor 2

| P.T.C.
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36. wid #, Fafafas fm aar w7 w6 &

Hay 1 Sand A1 & 999 SR w w8
o WA 67

(a) Taim wmom

(b) AT I

fc) Tl T=a % wifaw® 73 w1 fG6a =2
EICl

(d) wEEE A e

37. Tr=fofaa & € ==, 79 a1 6 F9= T

# /mferat 27
1. o9 s g = # 9w

2. T gH % B B W o e
foag Siftm =

3. wurA ¥ Tgufa @ wEiEm Sa

Jra fou o g2 w8 w1 wE I gR)
fa) 1,237 3

(b) e 2

fc) FEer 2 3w 3

{dl =1
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3g. afF A I3 ¢ 5 FE duwr umw ageds

102(1) ¥ aftfa et Fdmd mm B & .
8, a1 70 ® 2 ifm Bfem =1 F fw
e 27

(@) WA = WEY

(b) HRA I WA

fc) e TH WAy

(d) WA F T A

39, TFg BW # Tifaw @ o dew * fow

T (FRm) AR
(@) R
(b) i
le) AT

(d) =4

40, diwE @M W A (NITY) W gE

ieEaia FH & o AGESE B Heed fEE
= urfa Fen T a@?

@) 2014
(b) 2015
e} 2016

{dl 2018
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36. In India, on which one of the following 38. If any question arises as to whether a
grounds ecan the salaries and Member of the Parliament has become
allowances of persons serving in subject to any of the disgualifications
connection with affairs of the State be mentioned in Article 102(1), who among
reduced? the following is empowered to take the

final decision?
fa) Financial emergency
fa) The President of India
fb) Internal disturbance
{b) The Prime Minister of India

fe} Failure of the constitutional
machinery in a State fe¢) The Speaker of the Lok Sabha

d) Th i
fd) Degradation of public morality @ Rooo ke

39. What is the quorum for a meeting of the
Committee on Petitions of the Rajya

; Sabha?
37. Which of the following is/are exclusive -
r/powers of the Rajva Sabha?
power/p jya Sabha (aj "
1. The power to initiate a Money Bill
ftz) Five
2. To declare a subject in the State
List as a subject of national fe] Seven
importance
fd] Ten

J. To impeach the President of India

Select the correct answer using the code 40. In which year was a Cabinet resolution

given below. passed to replace the Planning
Commission with NIT] Aayog?

fa) 1,2 and 3 fa) 2014
(b) 2 only (b) 2015
fc) 2 and 3 only ¢y 2016
(d) 1 only (d) 2018

KASC-A-GIP/55A [ P.T.O.
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41, fy=fafiga 4 @ fom Rfte @ =1 od ‘W fc) T, WG & Tewsd A fwdl wufw @l
s 20 ¥ R faft & omer wwen ® afem w2 w0
(a) FFTH F (d) T, WA % Teada § hoamhel @
fafts % wne e | afEE =6 w0
by HEmm

o) 3 w2 wrdn
44, wE siftErd & gEsim g F FafEiEa
TEYEl § 4 ®H-9 98 SEd £ 6 Tee

A St =fw # wm, =aEw R 2 A oW W
A 87
42, W ¥ frfoian # @ fem oo § Ruw iy fa) = |
et 27
(b) T 2
fa) TeEm
() Figwda 3
(b) Tt =T
(c) FiT=83 4
fo) I U
(d) FAlE®
45. Fafafaa 4 9 F+E-H 9 wwE & wiagm #
ATeEt a8 e A 27
43, WNd F AEYR F geEE 14 F AWM, @ W
Favafefian 7 & #=-u1 ad 76 27
(a) Taf % wua Tua Fa 9FA * O ) Ak
=1 T 21
(b} TE WWA % THET § TR wRE ow
Tafimt =1 gam wwam gifae s 21 (d) TIEEt

WAST A _GTRISEEA
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41. Which one among the following legal fc} The State shall not deny to any
maxims means ‘we command’? person equality before law within
the territory of India.

{aj Habeas corpus
fd) The State shall not deny to
(b} Mandamus non-citizens eguality before law
within the territory of India.

fc}  Audi alteram partem

fd} Non bis in idem 44. Which one of the following provisions of
the Universal Declaration of Human
Rights states, “Everyone has the right to

life, libe d ity of person™?
42, Which one of the following States of India ife, liberty and security of pers

does mot have a Legislative Council?

fa) Article 1
fa) Bihar

(b} Article 2
fb) West Bengal

fc) Article 3
fe) Uttar Pradesh

fd] Article 4

fd} Karnataka

45. Which one of the following languages is
not included in the Eighth Schedule of

43. Which one among the following is not
the Constitution of India?

correct as per Article 14 of the
Constitution of Indiar

fa} Bodo
fa) Equality before law is guaranteed
to citizens of India only. (b} Maithili
(b) It secures for any person equal fc) Santhali
protection of laws within the
territory of India. {d} Ladakhi
KASC-A-GIP/55A [P0,
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46. UF ST 3mA @ oa @i Fo o fE 48. FofafEs T w = fifsm .
R W FAdl | 9 F1 A we e

@37 + 4 3=la@@

H 25% T4, 20% T 3R 20% &1 Bt &) T RO
o Aol fdt J goem fean @ o

Rradl el @K1 =nfee aife 38 et firemam o1 e aree § @ Frferfian # & R Fefia
=TT 27

o121 A A7

fa) 20% =4 (a) T FHH F

) 204N i A

fc) 25% T4 .
(c) Fam Faam s =

fd) 25% &
(d) Tt == =1 T

47. Frafafiea dea w1 am w21 87

1 1 1 625 62-5
__+ + #oe 49, Tt 222 _ "0 & x % WE F BT
W2 +41) W3 +42) (3 +43) 0-625  x

1
+—
[+ 100 + /99

(a) 0-0625
faj 9

(b} 0-00625
fb) 8

6-25
e (e
(d 6 {d} 0-000625
KASC_A_GIB/IRRA 1
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46. A company calculates its profit or loss 48. Consider the following sum :
quarterly. The company makes 25%
p‘l’ﬂﬁt, 20% loss and 20% loss in three @37 + 466 + 5@W3 = Ya @@

consecutive gquarters. What minimum
profit or loss should the company make
in fourth guarter to have no loss

overall? In the above sum, @ stands for which
one among the following?

fa) 20% profit
fb) 20% loss: fa) For all digits

fe) 25% profit (b) For even digits only

fd) 25% loss (c) For odd digits only

fd) For no digits
47. What is the value of the following sum?

1 1 1
Z+1) Wa+2) Wa+3)

1

" /100 + 499
+
g9, If BZo —E then the value of x is
0-625 x
. fa) 0-0625
a
b 8 fb) D-00625
(d & {dj 0-000625
KASC-A-GIP/55A [ PT.0.
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50. i3 v R ®1 20 fFF * fow sew s 53. AW ifsm % €5 = amdt &, 9w AW F

30 fH F fou 999 31 ¥ =W 2 7= s fom x i % fom wafn 21 20 91 % am, 9
2l ® wEEe e el % fow 9w w8 8 ¥ 25% ®eE fm @i 30 &) 3 o
e nin ¥ = g, I wEE oA x B o
flae & fo/e e B x %1 0 4 B
fa) 12 A
fa) 80
(b) 15T © 72
fe) 11 fa= © 60
(d) 20 f& @ 40

51. Toredt =g = Tasra qe9 =i ovm 909 & e = 4. TR x:y=3:7 A 6x? - 2xy+ y° ek

A 7:4 1 I TR F A N AR T xy
& e S R L 87
2
fa) 3:4 fa) g:i
fb) 4:3 61
(b} 31
fe) 5:4
63
d) 7:3 @ 51
64
(d) ey

52. TF 3 90 km/h # T & 99 w8, G
oOE 335m B W 29 W 290 m wE

R #9R w8 A w et B5. I x 1 Jx % 80 &, #t x 7w 27
(@ 25s fa) 100
B 23 s fb) 200
() 20 s fc) 400
(d) 30 s d) 800

KASC-AGIP/S55A
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50. An amount is adequate to pay salaries to 53. Assume there to be some foodstuff that is
R for 20 days or to S for 30 days. For sufficient for a team for ¥ number of
how many days is the money enough to days. After 20 days, 25% of team
cover salaries of both of them together? members happen to quit. It is observed

that the remaining foodstuff is sufficient
fa) 12 days to feed the remaining members for
another x number of days. What is the
(b} 15 days value of x?
fe} 11 days fa) 80
{d} 20 days (b) 72
fe] 60

81. The ratio between the sale price and the
cost price of an article is 7:4. What is
the ratio between the profit and the cost

rice of that article? 2 _ 2
B 54. If x:y=3:7, then 5 o

(d) 40

xy
al 3:4 equal to
62
{b} 4:3 rﬂj 'i-i-
L
. D=
{dl 7:3
63
Ilrﬂ,’ E

B62. A train with a length of 335m is
travelling at a speed of 90 km/h. What fd) —
is the time taken by the train to pass a
290 m long platform?
§5. If +/x % of x is 80, then what is x?

fa] 25 s fa) 100
b} 23 s B) 200
fe] 20 s e 400
fd} 30 s (d) ®0OD
KASC-A-GIP/55A [ P.T.O.
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56, T FANE G wEnsl w1 ofiea 13 8 AR 59, — __ frs s 27
el i wumie s densit & o i 1442443
A for e, ) I T A T et

fa) J2-J3+2
fa] 15-0
(b} 14-5 b} V2++3+2
g (c) v2+464+2
(d) 13-0
(d) 2-JB+2
57. uF = I fEn ¥ 7 km Sen 2, S
T8 [ W 4 km TAW & 791 5 3l fi
#R 4 km @A 81 ¥4 98 990 0= @ @
ferrrtt 57 3ie fopwr foeam @ B7
fa) 5 lkm Zfem-7F faw A 60. Trafefiga wual s el @ e Fifan

(b) 5 km IwE-gd famm A #0159 P, OF

fc) 15 km T fam $ 3r 911 : 9% R, OB

() 7 km 3 fm 61 3 fred 1: %9 P, RE|

Fed 11 : WS R, PRI
58. Fafafaa o= # & FF-m, R7y" § @l

W W R o TE 8 @wan, Wl on U e el § & F-my/Fe-0 fifim w09
TR il &7 Tomren S WA B/ S e 27

fa} 1 fa) e forewd 1

o) 3 (b} e Fred 11

ol 5 jc) TreEd 1 s T AR

(d 7 jd) AWt AR TdN

KASC=-A=GIP/S55A
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56. The average of seven consecutive natural

59, ———— is equal to
numbers is 13. H the next three 1++2+4/3
consecutive natural numbers are also
included, the new average will be @) 2-43+2
fa) 15-0
b) 14-5 ) J2+J3+2
fc) 13-5
fe) N2+J6+2

(d) 130

57. A man walks 7 km in the North direction. (d) J2-6+2

He then walks 4 km Eastward, and then

4 km Southward, How far and in which

direction is he now from his original

position? 60. Consider the following statements and
conchasions

i -East directi
(a) 5 km in South-East direction Statement 1 : Some P are Q.

fb) 5 km in Nerth-East direction Statement I1 : Every Ris Q.

fe} 15 km towards East direction Conclusion T : Some P are R

(d] 7 ki towards North direction Conclusion 11 : Every Ris P
58. Which one among the following digits can Which of the above conclusions can be
never be at the units place in 273", certainly drawn?

where n is a positive integer?
fa) Conclusion I only

fa) 1
fb) Conclusion 11 only
b) 3
fe) 5 fc) Both conclusions 1 and 1
e} 7 fd) Neither conclusion I nor 11
KASC-A-GIP/SS5A | P.T.O.
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61. Tffn diewE = Tefafas § 4 w43 4 412 fau o gz 1 wm = wd I g
et yEn (2023) faen? .
(o) EE 1
il
@ (b) FEE 2
b) fe) 1 ¥R 236
fe) T (d) T 1A E 2
() TETEA-TTE

64. Fefafiaa 4 & fees g ofierd @@=, 2023 §
o e HiAd A o W TR w # o

62. G20 ¥ fmm #, Frafaafizm # & F9-=/3FR-8 SR 2o T 7

e )R
1. ze wd eurht wheErem 78 2 (@) ST, VTG, T T
2. WE 20 v e dE % WA

! (b) WM, FIfCAT TS, Wi
fafim: a1 Sadd #am g warfiE 20

3. e dm A S v A (e} TN TORTS, IR,
4. G20 ¥4 @ s wfafaE’ 0 8w () WA, I TS, W
2
A e e g2 1 i R A 3w g 65. Frafirfaa @ frl/fed 2023 § T fm
wiiE v feael & s o i B e
fa) 132
1. gEER, A
(b) A 4 2. delt %1 Bragen g
(c) 334 3. wifafiekem, ofim ama
4. Ty Hig
(d) 13R3
#rt R o = = v = w3 g
63. T W fem 3 v A, Pttt w2 1R
T He-8 ud B8 (b} == 3
1. @8 28 wadl & g S 21
_ . ) 2, 334
2, T8 W WHEE % SN FYEcEd W
uZa 21 (d) a2 ¥ 3
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61. Narges Mohammadi received the Nobel

Prize (2023)
following fields?

fa) Peace
(b) Physiology
fe} Medicine

(d) Chemistry

in which one of the

https://iasexanport al

Select the correct answer using the code
given below.

(@)
(o) 2 only
fe} Both 1 and 2

(d)

1 only

Meither 1 nor 2

64. Which one of the following represents

62. Which of the following is/are correct

about G207

1. It has no permanent secretariat.

2. It was founded on a legally binding
international agreement between
20 top industrialized countries.

3. Each country is led by a Sherpa.

4, Spain is one of the two Permanent

Invitees® to G20,

the correct sequence of countries in
ascending order of Gold Medals won
in the Asian Games, 20237

ja) Japan, India, Republic of Korea
{b) Japan, Republic of Korea, India
fc) Republic of Korea, India, Japan

{d) India, Republic of Korea, Japan

65. Which among the following was/were

Select the correct answer using the code

given below.

faj 1 and 2
(b) 4 only
¢ 3 and 4

(dj 1and3

. Which of the following statements about
the National Sports Day is/are correct?

1. It is observed on 28th February.

2. It coincides with the

birth

anniversary of Major Dhyan Chand.

KASC-A-GIP/55A

declared UNESCO™s
Site/Sites in 20237

Warld Heritage

1. Dholavira, Gujarat

2. Hoysala Temple of Belur
3. Santiniketan, West Bengal
4

Ramappa Temple

Select the correct answer using the code

given below.

@) 1 and 2
fb) 3 only
fei 2,3 and 4

fdj 2 and 3 only

| P.T.O.
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66. @, UF wamv g, e Rwew 2023 ¥ < fam T 2 1 w= w0 EE e g
qRAE A ® H9T T, % Eem o§
Frffiga wwi w famm Hifa (a) TFEw 1 HR 2
1. T 9 o wrafis gfeet # @ oo,
TEOE W owepl adl s gmea (b) A 2 3 3
FrEEiEE e w2
2. @t 1 Fmi wn dn amies s B LIRS
* o wp-fam o gifesm 2=
o w8 3 R Pt 7 31 ) -
I T § A FR-E/F-8 w8 R7
(@) ¥ 1 69. ‘e Fz-amR T * fma 1,
(b) FaT 2 Frefefiam o 9 #9-w w4 o = 27
¢ 1 #r2aE

fa) TE IWREVE T U B
[d) Fd 13T 2

(b) TR SRUTH HEMHT TR S 9 R
67. F=fefEa 4 7 fe g 1 g9 QR 2023

et () T R Temri-134 W aErh
b wRE (@) T B s i T
(b) T E13E % S B 1
(c) UG A% 2 firg
() ¥k &Y
70. dic #ABe o o To TaWe & fHwm H,
68. WA WET I e A (e do o) Trafeian 4 & wi9-m w9 o = 27
¥ IR W WirETed 4 % fom frafatae :
U - 39 T o g /- I fa) ﬂﬂm,ﬁ?mﬂ 3R areEn % e
EIRe T TF HYE 4 A B
1 w~mcﬂoﬁo%m%mm
B " (b) EEI T 2018 H 7E 4
i fc) THE TEE WU WEOE A i
2. #Hie dfie fie sfmenaAl =1 myfEws & T T
T F AEA U
3. WA T = % A amtiE (d) 2023 1, TRAE FA T TN FHEE T
asfidt & wra & fou d-ges 4 a2 =1 sy ez wfas an)

KASC-A-GIP/S5A
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66. Consider the following statements about

Sandhayak, a Survey Vessel Ship,
which was delivered to the Indian Navy
in December 2023 :

1. One of the primary roles of the Ship
is to make a full-scale coastal and
deep-water hydrographic survey of
ports.

2. The Ship is made to collect
oceanographic and geophysical
data for defence and civil
applications.

Which of the statements given above

is/are correct?

fa) 1 only

(b} 2 only

fc) Both 1 and 2

fd} Neither 1 nor 2

67. Which one among the following books is

the winner of the Booker Prize, 20237
fa) The Bee Sting

fb) The House of Doors

fcj A Spell of Good Things

{d) Prophet Song

68. Which of the following isfare the

measure/ measures undertaken by the

Government of India to promote the

production of Compressed Bio-Gas

([CBG)?

1. Central financial assistance for
setting up of plants for generation
of Bio-CNG

2. Inclusion of CBG projects under
Priority Sector Lending

3. Concession on customs duty for
the import of machinery required
for setting up of projects

KASC-A-GIP/S5A

UPSC Exam -
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Select the correct answer using the code
given below.

fa} 1 and 2 only
fb} 2 and 3 only
feg 1,2 and 3

(d) 1 only

69. Which one of the following statements

about ‘Silkyara Bend-Barkot Tunnel’ is
not correct?

fal It is in the State of Uttarakhand.

(b) Itis a part of ‘Chardham Mahamarg
Pariyojana’.

fe} It falls along NH-134.

(d} 1t is being built by the National
Highways Authority of India.

. Which one among the following

statements about VINBAX is not
correct?

fa) Tt is a Joint Military Exercise

between India, Vietnam and
Bangladesh,

fb) It was instituted in 2018,

fe) Tts first edition was conducted at
Jabalpur.

fd) Im 2023, Indian contingent

comprised the Engineer Regiment
of the Bengal Engineer Group.

[P.T.O.
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71. TEE @A w6 (Jo THe Ho) * fawa

#, fferfian 4 & F-a1 S wd o 87

fa) 2012 ¥ ®g® UE 12 FwEm =
‘AT OEihE R Fate Ew
% w9 o w

(b) Fo U= Hio W IE-TE (HiEl) I B
T s =Rn & uEee S wet
T F4T A TEE U A

(c) Ta oA el % T8 UHW o B

(d) swEEn waE, qa wat ol fada
T Yo Ui Hio & AW 7|

72. e faw G swemge (e #me e we)

% Toym #, Frafafes 9 w = fifaw .

1. 9% 9l Tih HaAed, WA B & AdH
A e T fEm % dge § afew
Tt -TEd H U TS 2

2. e :Me Hte To T ST MIEYH B, A
11 29 & 275 4 st s 3d-ne
=1 i w0 2

I FEE T A FA-A1/HE-H A g /E
fa) A 1

(b) A 2

(¢ 1 3R 2EH

(@ ad 1 ERad2

KASC-A-GIP/55A
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73. wrE i FEh g & den d, et

o -5 a9 961 T8 87

(a) Zeh-A1 v H-yEaEn (d-fairm)
geE 99 21

(b) GG % UEdla UdE wE dE e
(e o Wie URe Ue) ¥ HIHH-WHE
£

fe) iz wmel =) Garen & fon sara |
Tafim =l W wwidy Siufeas aEed
£l

(d) WA ¥ $8 e woefee Rfves
it =mamm £

74. A § Fa=fafias 4 € e =9 #1 2014-

2015 ¥ 2023-2024 T FU THFU T
-fiem & A i ofin ow g 87

fa) 09 w&W
(b) FAeH

fc) T W
(d) W= g

75. UNFCCC-COP28 f=fefaa 4 # e s d

wirtaa B @y
fa) ¥ TEA-NE

(b) T

fc) T

(d) =g
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T1l. Which one among the following 73. Which one among the following
statements about Universal Health statements with regard to the legal
Coverage (UHC) is not correct? facilities in India is not correct?
fa) The United Nations is observing () Tele-Law is a pre-litigation advice

12th December as the mechanism.
International Universal Health
Coverage Day’ since 2012. fb) The President of India iz Patron-in-

Chief of National Legal Services

(b) UHC’s motto is that everyone Authority (NALSA).

should have access to quality and
affordable healthcare. fc} There are dedicated Commercial

Courts at various places in India to

fe) It is a central aspect of Sustainable handle commercial cases.

Development Goals. ‘
{d) Some courts in India are paperless

(d) Population i ' R Digital Commercial Courts.

coverage and financial protection

dimensions of UHC.
= 74. Which one among the following States

in India has received maximum funds
under Sub-Mission on Agriculture

72. Consider the following statements about Mechaniatios frem S014-3015 to

the Global River Cities Alliance (GRCA) :

2023-20247
1. It is an alliance of global river cities
led by the National Mission for fa) Andhra Pradesh
Clean Ganga under the Ministry of
Jal Shakti, Government of India. () Karnataka
2. GRCA is a unique alliance covering fc) Uttar Pradesh
more than 275 global river cities in
11 countries. (d) Madhya Pradesh

Which of the statements given above
is/are correct? 78. UNFCCC-COP28 was held in which one
of the following cities?

fa) 1 only fa) Sharm el-Sheikh
(b} 2 only () Dubai
fc; Both 1 and 2 e Glasgow
fd} Neither 1 nor 2 fd] Baku
KASC-A-GIP/SBA 29 [P.T.O.
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HATMT—B
gfes wive
THe o Wo THe H, U T FE A O g1, fe=zium v u=E =
# e v e w27 ) TR
rﬁJ _E'E.I:f ['b_J _an fcj EI'R?:I'IEF%
fc) _blank {d] _ocpen A
; . % wed H, :
ﬁiﬁ;ﬁif e 82, ffufiEa # & *H-w, 22 % ya4 wd fifEn
@) q@mﬁag@ﬁﬁmqqﬁhl ¥ fom wifesa =i fiawen | wegw B #7
(b) aAFETE ZewE o fa) AT S
(c) T Ziewhia Witz (b) TR T
(d) T Zrewntea w e} I W (0 WTER)
St 1 g i afe (d) = FH1 T THE
(a) = (b) =T 83, UHo UHo UmEW FT E7
fc) =2 (@) Fe= (a) wEaaE (feee) o o THo THo
: (b) “2a% Eo e WHo THe
. Pofafeas 4 @ #9-m/F9-8 =t feamm
B/E7 fc) Wi (Afeiw-sifmEE) € Ho
) Eﬂ'n‘l{ﬂ'n
1. ZFaid
2. ZEEEN (d) vEigEE (egaugwe) o dic wHo
I{Ha
it o o 2 o sl e Gl 3 g
(@) ¥ 1 84. 3ito UHo ¥ge Wiew & fw ww w, v frdte’
(b) aﬁlﬂi ﬁrﬁfﬁ'@lﬁT%?
fc) 13 23 fa) T
fd) A1 #ARTE 2 (B) :‘i:"“
80, Sl sy vl 3, Nl vorel (e :f:
dat) #) e g Frefia @t B ww B
41 85. 4A0-2B F TWTE WH T 27

(a) Ffea ufom (Ere A=)
(b) UH FTGE (A Hire)
fe) B F F (TH FEeHz)
(d) = atmE (YeE BfiEE)

KASC-A-GIP/55A
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PART—B
PROFESSIONAL SKILL

76. In HTML, which one of the following is
uzed to open the linked document in a
new browser window?

fal _self fb) _link
{c) _blank fdj _open

T7. In the context of universal character
encoding standard, UTF stands for

fa) Unicode Transformation Format
{b) Unicode Transformation Form
fe) Unique Transformation Format
fd) Unigque Transformation Form

78. The smallest addressable unit of

memory is
(@) bit (b) byte
c) word fd) nibble
79, Which of the following is/are pointing
device/devices?
1. Trackball

2. Touchscreen

Select the correct answer using the code
given below.

fa) 1 only

(b} 2 anly

fl Both 1 and 2

{d} Neither 1 nor 2

80. In a computer system, the signed
numbers cannot be represented by

fa) signed magnitude
fb) one’s complement
fc)  two's complement
(d) float magnitude

KASC-A-GIP/S5A
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81. Histogram is a type of
fa) line chart
{b) pie chart

fc)

bar chart

{d] donut chart

82, Which one of the following is the medium
in optical storage system for reading
and recording data?

fa)
(b)
fe)
d)

Ultraviolet light

Laser light

Black light

High-energy visible light

83, MS Access is afan

()
(bl
(c)
(ci)

relational DBMS
network DBEMS
object-oriented DBMS
hierarchical DBMS

84. On which layer of the OSI model does a
‘repeater’ operate?

(a)
(b}
fe)
(d}

Physical
Data link
Netwaork

Presentation

85. The decimal value of 4A9-2B is

(@)
(b}
fc)
e

1193-1679
119-31679
11931679
1-1931679

[ P.T.O.
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86. wfER ¥R TFEA ¥ wew #, FEew F
sfEn = =90 vEd 999 us Gwgw, faEw

A3 faw T 2 = v A= w I g

PN PGPSR A NP S ¥ Gl A2
B Fmzt § wnEEE 8 gFa 2 9n ey (b) 233
difeifers wira um &) deal 21
fc) 334
w2y 1 g F9U3 gAiE 9 87
fa) SEATEET 89. uFE $wrd awll fedl ufedm daw (Wi

k) w1 wffes gedrE, Frefafes § @
e foran T fR?

1. ¥ T FRER 7R
2. i (TAEE) TR

(b) WBATA % AN FHaATE

fc) 96 % AN wHaTd

(d) = TE-sE 3. wEfe AT T
= fu T g W W = I g

87. Fft Wi ¥ g= gr fim fewm =4 4, (@) Ew 1 3R 2

fferfag # § Fi9-11 Twaew i T 87 ) ¥aw1 s

o) ufeafs Homwer € 1,2#m3

(b) =R T (d) a2 ¥R 3

fel Pl s 90, “sheifes v’ @ Preh iR T @ v

) S 1é v i & o s AR

88. U5 T84 (91 99) * =eRl & w1 A= A

o FEm @ Tl T s, wREn A g A
wm e M R R owwe R g
ffefm =1 w=m AufE g ==
wfufem, 1968 #it Fefafies d @ fFa g

e & 9@ ooy Bl 8 8 fro/fe 1 =8 wftafia foae T 27

W /=E = favm e e =it ;

: P e (@) =TI 2(1)(a)

2. el e sl ) Wi SLhE)

3, afigs s afEd (e) |mT 2(1)(c)

4, @ Ao (d) =1 2(1)(d)
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86. While maintaining the employer’s rights Select the correct answer using the code

in respect of trespass and damage, given below.
an impartial, courteous and friendly

attitude can yield dividends in taking X mnd 2
the heat out of an immediate situation (b} 2 and 3
and yield long-term dividends in the

form of goodwill. ¢/ 3 and 4

{d) 1 only

In which one among the following
references will this statement be most

appropriate for industrial security? B3 4 permeler Wl (of standand i

should have further reinforcement with

which of the following?
fa) Counter-intelligence
1. Barbed wire on top

(b} Action during strike 2. Setting spikes
! ; 3. Concertina wire
fe) Action during patrolling
Select the correct answer using the code
(d} Enhanced housekeeping given below.

'n) 1 and 2 on
87. Which one of the following documents is “I v

not required in the control room of the (b) 1 and 3 only
main gate of a plant?

fe} 1,2 and 3
fa) Attendance register fd] 2 and 3 only
(b) Vehicle register 90. Industrial undertaking' means any

undertaking pertaining to a scheduled
industry, and includes an undertaking
(d) Crime register engaged in any other industry, or in any
trade, business or service which may be
regulated by the Parliament by law.
Which one among the following Sections
af the CISF Act, 1968 defines this?

fc}  Standing order

88. The drivers of the cash wans, while
carrying heavy cash, should pay special
attention to which of the following?

1. BStaged accidents fa) Bection 2{1){a)
2. Fake police officers fb) Section 2{1)(b)
3. Expected traffic diversions fe] Section 2{1)ic)
4. Normal speed breakers fd) Section 2[1)(d)
KASC-A-GIP/S5A 33 FRT.O
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91. afz au ‘wfinw’ dE % Siaie yuw aw W@

21 = 1 sAftewaw STH-HW WA ael o
et gu 9 3R I 36F 7E 4 T A g
W o, e i g e s
ol Freaferfian 4 @ Fra oy @ = W &7

@) 2774
(b} 28 74
o) 29 =d
d) 304

92. o e Ue e % fan-FEwl & wgEr, A

¥ dten simayig 2F w e foe el gm @

W & o swa Fow i sifuwm i

GELRETEI

fa) 4 ¥4 % =% % 9 7@ & 7 59

(b) ENE 6 79 % w08 & G4 To o9
9§

c) SANF 6 79 F T F WY Fo @45
1059

(d) IR 4 T & seig & WY Fo wan
954

93, 4 afm wan 9= wfufem, 1968 4

e =9 U T HEiteE & g $eE WGEE &
A 1 e sfbeia & 9 W 99 %)
sfufaifm w0 § wad 39 79 F e
-4 1 gfg &1 27

fa) 1083
(h) 1989
fc) 1999

(d) 2009
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94, fefifigs # & w9-8, sfwms feem @

(wrR oo fowem) & v 87

1. w@-TEME (32) Uy

2. TYH-FHEE

3. - (31) T

4. dwra-da (2eg)

H= fou e 2 w1 W wOHE TR R
(@) Fa7 1 30 3

(b) FEE 2, 3 W 4

fe) #aet 1, 2 3N 4

(d) 1,2, 334

95. 4w s Ta W@ ¥ W IA

ﬁf"’ﬁlﬂ@, whiTfera Gﬁtq@fﬁ qq&'n A
=y (w f&) B o Frefefee @ @ s
fomme, s shefies e =t wfe & g
e &l B

fa) o W
(b) FHFIEn @H

fc) Ae FrETE
(d) FaTF a5

96. F= AEINF GET T I FEATEH e

F o firm frerre o dema fe man an?
(a) & Fegi

(b) I

fc) STHTE

(d) T
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91. In case you had joined the armed forces 94, Which of the following are the types of

at the upper age limit of 21 years under fire sprinkler systems?

the ‘Agneepath’' Scheme in the first ;
1. Wet

batch and you had served 4 years, you R

can be recruited by CISF until the age of 2. Pre-action

fa) 27 years 3. Dry pipe

b) 28 years 4. Delage

fe} 29 years Select the correct answer using the code
given below.

{d) 30 vears

fa) 1 and 3 only

92. As per the BCAS guidelines, what is the
maximum permissible length of a
Kirpan allowed to be carried by a Sikh
passenger on a domestic flight within

(b} 2, 3 and 4 only

) 1,2 and 4 only

India? d) 1,2,3and4
fa) 7 inches total length with a blade of
4 inches 95. CISF has a highly specialized, trained

; ) and fully equipped fire wing, It provides
rb} 9 inches total ]Ength with a blade fire coverage to industrial establish-
not ﬂEQEdmg 6 inches merits, m

fc) 10 inches total length with a blade
not exceeding & inches

fa} power plants

) coal mines
fd) 9 inches total length with a blade

not exceeding 4 inches fj  oil refineries

fd) fertilizer plants
93. In which yvear did the amendment to the

CISF Act, 1968 enhance the territorial

purview of the force by enabling the 96, CISF was first inducted in which one
Central Government to deploy it outside among the following airports?
the geographical jurisdiction of India?
fo) New Delhi
fa) 1983
b) 1989 {b) Jaipur
fﬂj 1999 fl'_'.')l Amritsar
{d) 2009 {d) Mumbai

KASC-A-GIP/55A [ B.T.O.
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97, W& I A Hie AR FHe =T TEMum =am

77

() %HEIE =@

(b) Fizer feard Zieaiet
() e frdtz zwefim
(d) I & | =1

98. fHmffiga d 4 #i4-u1, d3-wwe (Fessme)

R m-Tie () % st wa @ 9=
% for wrpfers smrg i @7

o) =& WA
(b) wiEET #=H
fe) Tt

(d) Tatm ==

99, #u-wivel (Frewe) R wi-wwe ()

4 wfn faw wmw w5 &= gu ofonfm
o 27

1. T

2. ERIE %1 wwen (i)

3. TR F A

4. R

Hre fam o g2 WM = w3 g
(@) F=A1, 2 3 3

(b) FaA 2 ¥R 4

fc) *EA 1, 3 3K 4

[d) 1,2 3374
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100. fr=fafas 4 @ #9-% T ®0F §, W @A

¥R HFF * SEEE T Wi w1 87
1. WA

2. A 3R FEem

3. wER & R
4

F-4-F0 o § gim-g-ufis e
firm 6 arwa

frt fow o g2 1w W wdh I gf)
fa) Ha® 1, 2 3w 3

(b) FEE 2 W 4

c) Faa1, 334

{d 1,3, 334

101, Fm aife gen @@ wfvfam, 1968 F

wed #, frafefas § 4 #R-w1/8H-8 #9
e #/87

1. *=g i @ 90 s f
YAl 10, F6-FGE1 % Fd=q o Getdd 3|

2. =g oaifs gun s sfufem H
gm 11, 962 % a9 frmm == 6
wifeh | Hatda 21

3. *m e gan e afufem 6
am 12, et & vam sge 6 5=
AT A | wHEE 2

4. HEA FAE GET 99 SAaEEE 6
a7 13, 9RZ & T el o & afE
T giad 7|

et fau U e w1 W@ W A I gf)
fa) 1 34
(b} 2 33
) 132
(d) #ad 2
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97. CRT in the context of security equipment 100. Which among the following are the main
stands for factors that affect the formation of
platoon and section?
fa) Cathode Ray Tube 1. Terrain

Command and control

(b) Central Research Transponder "
3. Direction of fire
4

fc} Common Repeater Timing Maximum firepower within
minimum time
jd}] None of the above
Select the correct answer using the code
given below.
98. Which onc among the following is net a
natural cover from fire in fieldcraft and

tactics? fi) 2 and 4 only
fe} 1, 3 and 4 only

fa) 1, 2 and 3 only

fo) Ravine
s fd) 1,2, 3 and 4
ollow
101. With reference to the CISF Act, 1968,
fc) Bush which of the following statements is/are

correct?

1. Section 10 of the CISF Act deals
with the duties of the members of

(d) Reverse slope

99, Fire control order in fielderaft and tactics the force.
is defined by which of the following? 2. Section 11 of the CISF Act deals
ith th f i
b e :u tc powers of arrest without
2. Range 3. Section 12 of the CISF Act deals
3. Indication of target with the procedure to be followed
¥ after arrest.
g f fi
Type-ok fire 4. Scction 13 of the CISF Act deals
Select the correct answer using the code O Do-momeny ol Saanoh Wk
warrant.
given below.
Select the correct answer using the code
i belowr.
fa) 1, 2 and 3 only L
fa) 1 and 4
{b} 2 and 4 only
B} 2 and 3
fe) 1, 3 and 4 only fe/ 1 and 2
fd 1,2, 3 and 4 {d) 2 only
KASC-A-GIP/S55A arT [PT6.
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102. %= fofem fand (@ifEw, fdan o sda)
Frammeeft, 1965 % sigEn, Fefafias 4 @
FH R wEd e W Rl ww
Term wegm mfteprft i 27

() Ffe Wit

(b) e =i wivedt, P wied fed
W B

fc) SR SRR
(d) <f= wrftmrd

103. F=rg firfam dand (sranw) Fremmaeh, 1964 %
srgam, Frerferfn § 3 2R TR & R

At whE @ seEh/sgR 6

WA T8 &7

(o) Tofae 1M G § w=ulEs ¥ w9 §
i B

(b) T dafuEt # swer SR =, W=
772 fafea wim & sifis &1

) Tt Bl I Al e @ =t =
fer e e w5 37 e R e

(d) WRA HSH THE R AEIEE Ae &
T W % WA 91 e

104. s gft =+ Fiefafas 4 4 fred 9 9
1 A 27

(@) ST FE, -9 gEt, v R
(b} srHfE g, vt g6, A g
(c) d-Fw g, wef g, sweaw g
(d) e g2, fgm gd), s g9,

A g
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105, gl I e (vere fo Hio) w1 @AM oW

g 10 fadi 7% @ afda g % Tdem %
fera, Tediaor €1 sl % wry-wmy & W @
gt #t w=fa # feem § oo g, e
wEll wEt F wn o0 w-4-w e R
g M A wrfeny

(a) 180 f&=
(b 30 f=
fe) 90 fA

{d) 300 &=

106. F=w sheifie g 7@ % 49 74 (= wiz)

=t Foferfiam & & frdt/fond gt ofi weaed)
¥ foru wfirfam fem sman &7

1. =i whmEm

2. @ (i 9=

3. 39w UE 9EE0 H @AW T E=R ger
4. #go 2o Zlo

A9 fau e 2 w1 v = I g
fa) 1 ¥R 2
(b) FE@ 2
fc) 1373

(d) 2 #R4
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102. As per the CCS (CCA) Rules, 1965,

which one among the following is not
the competent authority to place a
government servant under suspension?

fa) Appointing authority

(b} Any authority, to which the
appointing authority is subordinate

fe) Disciplinary authority

{d) Inguiry authority

103. As per the CCS [Conduct) Rules, 1964,

which one among the following activities
does not require sanction /permission of
the prescribed authority?

fa) To join as wvolunteers in civil
defence serviee

fb) To accept gifts from near relatives,
when walue exceeds prescribed
limits

fe} To accept fee for work done for any

private or public body, or person

fdj To participate In Shramdaan
organized by Bharat Sevak Samaj
during spare time

104. Earned leave can be combined with

which of the following?

fa) Casual leave, half pay leave,
maternity leave

fb) Casual Ileave, maternity leave,
study leave

fc/ Half pay leave, maternity leave, sick
leave

fd) Casual leave, paternity leave, sick
leave, study leave

KASC-A-GIP/55A
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105. For an encashment of earned leave of

up to 10 days at the time of availing
LTC, a balance of at least how many
days should be available to a
government servant’s credit after taking

into account the period of encashment
as well as leave being availed of ?

fa) 180 days
fb) 30 days
fe) 90 days

fe) 300 days

106. The dog squad of CISF is trained to sniff

and identify which of the following?

1. Metallic weapons
2. Narcotics
3. Pickle and smuggled food items

4. IEDs

Sclect the correct answer using the code
given below.

fa) 1 and 2

b} 2 only

fc} 1 and 3

fd} 2 and 4

i P.T.O.
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107. =9 2006 H, ¥ Aifis W 7@ F G-

WTR R F O VB FA % o fasm g
WE (Wo UHo o) Fmw fafie =8 &
e 1| Fefefiaa d @ f9-m, 9% w699
=1 feremn =t 27

fa) I QT 9BH AT

m) Todt som ffa 3 geo-am &t =
[Ecama

() m-FBFe = = =\ 9 I=A
foufet # weam wam &

(d) HEN-WTH W & wafuE i afefiat w
T TGN FAT

108. ¥0 F6 #FEL # F FEd 8 @@ am fEh

TFR-YH A F SH A0 @ T 9%
wHEfFEIFEI e smem E, st 3 =
=fvh 1 98 &% WH T8 24, 99 A% % T8
=ifn 30 # # w= & fow wEEa 7 B W,
it wim e #7

fa) OfE

(b) WEM FEIY
fe) AR
(d) ==

109. sge fafim &t & e & W1 wedl B)

T 4 | -, e = == F
g gm i 27

fa) FouE g0 oW sfEEl (F9)
(b) ST (FTETEH) FHAT
fc) A-sEfEE (SeE=s) gu

(d) T (UFESTTTR) ¥ ATeAM W W
EICEaci]
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110. F=fafiaa 4 4 Fi9-w1, =0 =R ¥dn fer

zm (o Fo Flo wHo) IR W fewm
27

fa) i AFgE
(b) wH AR

fe) TEA Wl g E@ee (99 w9 dea
)

(d) gt am

111. ufFEnf = um 13 & fou fh oferh 2o

I H TE FEEAR R AE H HAY S
FAferes <t w0 w o A

fa) iaEma (Fee)

(h) EdGIEE F1 (Gaai)

fe) e QR (Fefeam ofsEE)
(d) VIR (FER-gert)

112. fme e+t = % T o= omie S

Foru, o #1 WA #, gt wal Frefeifiaa § @
Frag it s 27

() et qftre
(h) UHo UHo Hlo
fr_:-! I'_-I.Hu "Zﬁ'n Tuﬁcl

{d) o 3o UHo ko
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107. In 2006, CISF raised a special unit called

the Special Security Group (55G) to
provide security cover to protectees.
Which of the following is rot a part of
its duty?

fa) Providing physical protection

fb) Ewvacusalion of the protectees in
case of an emergency

fc)  Providing mobile and static security
cover to nominated persons

(d} Providing protection to the relatives
and guests of the protectees

108. What do we call an occasion when people

show that they disagree with something
by standing around a person in
authority and not letting the person
leave until the person agrees to do what
the people want?

{a) Confinement
(b} Wrongful restraint
{c] Blockade

{d} Gherao

109. Intelligence can be collected from various

sources. Which one among the following
iz not a reliable source for collection of
intellipence?

fa) Images obtained by satellites
fb) Grapevine communication
fc)  Intercepted communication

jd} Information
espionage

obtained  through

KASC_A_GIP/SEA
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Which one among the following is not a
part of Bomb Detection and Disposal
Squad (BDDS) equipment?

fa) Telescopic manipulator
(b) Bomb blanket
fe) Deep search metal detector

{d) Smoke bomb

111. The illegal and wunethical theft of

112.

business secrets for use by a competitar
to achieve a competitive advantage is
known as

(a) sabotage

fb) subversion

{e) industrial espionage

{d} counter-intelligence

Sky Marshals are deployed to prevent

hijacking. In India, they are recruited
from

faj Delhi Police
(b) NSG
fc) SPG

fd) CISF

| P.T.C.
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113. =W ¥ HERd BH & fom o 4% o 2 4.
T WH % day A, frefefon 4 @ f-a w9
Hel 2y

(a) Ff wwm & 21 R aEEl

(b) Ffa e & gr & it ol #

(c) faw amm § ar % & s 2

(d) i amm # S # aeta 2

114, fom (Fe-3dw) wfufmm, 1922, %4
et g aa & wed W W FER Ar
i St T 7w gfere e % deedt gt ey e
B = i guan =9 sifufem, 1968
i -1 am % Fedl 27

fa} WA 18

(b) 9T 19
fc/ W20
fd) &my 21
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115. =% ® & W I A WeE % M

TS F AU THEAT 1 wErga e
# a5 o s =fen, sk ==

1. @ Wfes ¥ w1 & (7@ @) Rl
femn s =nfey

2, wEw Bt % = 8 fafE g s
=fen

3. vfaEfia % = & fafga fen s =i
4. wH 59 forere § gren s aien

= faw m 3z % v w3 gh)
fa) 1,2 3R 4
b} 2,334
g 1,2#R3

(d) Fae 1 HW 4

116. T8 Wae@ (We THo To) Hi wlmEm *

e, fafafas @ @ $w-w, =0 e
gfe =& (Ho To o wgo) T 27

(@) TEe WHo o
(b) THe THo Ste
fc] THH T5%H

(d) wEe die Ffo
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113, Which one of the following statements

with regard to carrving power banks for
mobile phones and dry cells in flight is
COrrect?

{a) Both are allowed in cabin baggage.

fbj Dry cell is allowed in cabin
baggage.

fc/) Power bank is allowed in cabin
baggage.

{d} Both are allowed in registered
baggage.

114. The Police [Incitement to Disaffection)

Act, 1922 shall apply to members of the
CISF as it applies to members of a Police
Force. Which Section of the CISF Act,
1968 says this?

(@) Section 18

fb) Section 19

fc) Section 20

{d) Section 21

KASC-A-GIP/55A
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115. Vitally confidential documents passing

through the post should be enclosed in
an envelope addressed to the intended
recipient, and they should be

1. marked as strictly personal (by
name)

2. marked as strictly private
3. marked as restricted

4, put into another envelope

Select the correct answer using the code
given below.

fa) 1, 2 and 4

(b) 2, 3 and 4

fej 1,2 and 3

fd) 1 and 4 only

116. As per the MHA notification, which one

among the following is not a CAPF?

faj SSB

(b) NSG

fe) Assam Rifles

(d) SPG

[P.T.0.
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117. ¥ TeaE &9 8, Frefafaa @ @ fa 99
T W EE R gen am A g
ver A i g #7

(a) e A
fbj ORI T
(e} W= =

(d) I THEHE W

118. ¥ fenfier g == wfufem, 1068 %
w2 d, Frefafaa 9 8 f9-w/F0-8 =5
e T #/E

1. 9W 8, T 91 & iy i goee 4
wafE 2

2. W A4 w1 e e waEn o e
il

3. T I ¥ O9RTH A &y e
5 Ffea gy

4. W 99 W R weites § ffe
g

= fau v e 1w = wd g
fa) 137 4
b) 23R4
(c) 233

fd) A 1
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119, ¥W FifEn gaym #@, fFafefes € & $9-8

wnfire #7
1. wEm
2. WA ==E

3. & fam

4. #fm wwE

e faw o 2 W wEm @ wE@ I g
fa) a1, 2 33

(b) F=et 3 3w 4

fo) ¥Faa1, 234

(d) 1,2, 3 ¥R 4

120, s3-FwE (fogwme) 4, wEen w8 3w 8

#n fawré Fm 27
1. == TeEl A w8
2. ¥ M smm-tw ¥ FaEt | 92w

3. wW 2Ed g sn Fow % de el
& /st swi =

4. wa 9 F 30 F T E R
= fom o 2 = v ad s gRu
(o) ¥a@ 1, 2 3 3

(b) *EA 3 3N 4

fc) a1, 2 300 4

(d 1,2, 334
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117. In the National Capital Region, on which

one of the following metro rail lines is
CISF cover mot provided?

fa) Blue Line
(b} Aqua Linc
fc] Magenta Line

{d} Airport Express Linc

118. With reference to the CISF Act, 1968,

which of the following statements is/are
not correct?

1. Section 8 deals with the super-
intendence and administration of
the Force.

2. The superintendence of the Force
shall wvest in the Central
Government.

3. The command and supervision of
the Force shall vest in the Director
General.

4. The administration of the Force
ghall vest in the Inspector General.

Sclect the correct answer using the code
given below.

fa) 1 and 4
fb) 2 and 4
fc) 2 and 3

(d) 1 only

KASC-A-GIP/S5A
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Which of the following are included in
total risk management?

1. Safety

2. Fire prevention
3. Damage control
4

Insurance functions

Select the correct answer using the code
given below.

fo) 1, 2 and 3 only
fb) 3 and 4 only
fe} 1, 2 and 4 only

([d) 1,2, 3 and 4

120. In fielderaft, distance is underestimated

when
1. the light is bright

2. the object is large in relation to its
surroundings

3. there is compressed/low-lying
ground between the observer and
the object

4.  looking uphill

Select the correct answer using the code
given below.

fa} 1, 2 and 3 only
fb) 3 and 4 only
fe} 1, 2 and 4 only

{d 1,2, 3 and 4

[ P.T.O.
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121. el wmme =1 Fares, ol & sgan, &

FHIR] F 909 9 I0F 3WEH F Fdl Il
arftanfis dee Fife § s =9 F foo o 2
wfe @ s o o, sw & R ogw
wifam ¥ Faes

fa) FH TE H AW A F A9 T4 7 B
st fafr & snefir = s =+ =
&t Em

my fafa =1 wfeaw w0 = 5d g sk
USSR VO v i
£

(c) WRAG ¥ HiEgm, 1860 & A
ST =T FEA A E

(d) WA ¥ WiEW, 1860 & A
IR =T w5 gt T g

122. Frfofias 3 | fra/fr ey /emodt & fm

wyrsttEs wwmEm § 39 e o w27

1. 9% @@ % w9 4 3@ # 3E T
ot Fmior =1 2 #9 F B S g
fify

2. wEE-fawm & =9 § 3Wm § WF I
et 78 it T2 w4 F o Frewies
g fifg

F= fau T g W wEm = wE I g
fa) = 1

(bj = 2

fe) 1 3R 23

(d) Fd 1 3RAHE2

KASC-A-GIP/55A
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123. =€ R #@fgm, 1973 &+ 3d=9 @ufv &

wfipEw & w9y o, Pl w99 o fEn

wifm .

1. faftfwemm wffe woft & 29w =9
% fom s=mm F9 9 Tom -FrlaE
& sfi iR @ @ gRe sl
s el B sfeew w=m o=
ARN W TFW 2, TR TE TH I
fBam = =1 Fw ® &% 3% A9 &
Tt Ofa & foui o sl & =1 gl
21

2. 39w w A i T s W o e
9y T B, W T F aEn e wm
F @@ 7 &1 aEfy & o = #
AR T g g = @ o R

I FUAl F F B RE-E A REY
(a) #ae 1

(b F9 2

fe) 1 3R 2=

[d) @1 amad2

124. = fomn wfawz, =/=a 6 ofs 4 I

Tt g sifteerdl =1 Tl ot wom w0 e
ANE 75 F AW wes # o & fou
aie E0 WY 3 s 21§ aegel A
nfEer 2

1. el Tea

2. e HE

3. wveE Fegd

e fow 0 g w0 wEm o I g
fa) HEA 1

(b) Fa 2

(c) w233

(d) 1,23R3

& Download FREE UPSC E-BOOKS o @ _



https://iasexamportal.com/study-kit
https://iasexamportal.com/ebook

CGet Printed Study Notes for

121. An employer of an establishment deducts

an cmployee’s contribution from his
wages for crediting the same to the
Family Pension Fund as per law but
does not credit the same as required by
law. The employer

fa) would be guilty of committing no
offence under any law on his
promise to deposit the amount

{b) would be guilty of having violated
the law and would be punishable
only undet the relevant labour
legislation

fe} would be guilty of having
committed the offence of criminal
breach of trust under the Indian
Penal Code, 1860

fdj would not be guilty of having
committed the offence of criminal
breach of trust under the Indian
Penal Code, 1860

122. The punishment of imprisonment for life

can be awarded for which of the
following offences?

1. Mischief by fire to destroy a
building used as a place of worship

2. Mischief by explosive substance to
destroy a human dwelling house

Select the correct answer using the code
given below,

fa) 1 only
(b) 2 only
fc/ Both 1 and 2

fd) Neither 1 nor 2

KASC-A GIP/55A
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123. With regard to seizure of property under

the Code of Criminal Procedure, 1973,

consider the following statements :

1. A police officer not below the rank
of Sub-Inspector of Police
conducting an investigation for
identifying unlawfully acquired
property can make an order for
seizing the property  under
investigation if he has reason to
believe that the property in
guestion may be concealed or
transferred in any manner.

2. An order made as above shall have
no effect unless the same is
confirmed by an order of the court
within thirty days of its being
made.

Which of the statements given above

is/are correct?

faj 1 only

(b) 2 only
fc/ Both 1 and 2
{d] MNeither 1 nor 2

124, A District Magistrate may by warrant

authorize a police officer above the rank
of a constable to take possession of an
objectionable article deposited in any
place. These articles include

1. forged documents
2. falze geals

3. obscene objects

Select the correct answer using the code
given below,

fa) 1 only

(b} 2 only

fei 2 and 3 only
fd] 1, 2 and 3

[ P.T.O.
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12B. =& WA AfEan, 1973 % e aoneft & 599 127. Fr=fefiaa § @ s9-m saw ot a9 27

#, fr=fafaa sudt w far $ifq .

1. ¥ Fawl 962 79 7% =9 § B =
% o 30 9 F20 ae T T
Al # fon st & W w4 a% 3@ Fenfen
7 = e = )

2. #§ ol ane @ fedt o ww o w
Frenfea 78 f&m -1 = 2, 3R TafE
WH W I wH AW A #
sffm A w2

3. faen wfwcz frdt o oiwg =t 6
aeneht % fow aemeh ane @l w8 gwm
&, sl T ofdly s & w0 8 s
2

THE FUA § § B-w /A w2
fa) FE@ 1 (b) #F=w 2
fc) 233 @ 1 3R 3

126. @z ufEn sfEm, 1073 ¥ s oufy arfmEy

& dau #, fefefias =@ w fmm i

1. #i g sfewd Bl Oeh dnfa =
sty #t oo & Toms a4 dee 2
agragd

2. &% g afuwd e tE defs =
ANFTEE W Hwal & W ud affetE |
uré st 2, o e sy B s
Hee 8|

3. R ufwdm f o ol = o=
TR WU W HA B s sk wew w
TR s SAIeaa 8, @ A g
dremit g e il = fEw @ m
2

I HuA A A w1 EE-d a2
fa) a1 (b) #=A 1 #HR 2
) 1,233 (4 Fa=3

KASC-A-GIP/55A

@) F% UEEZ T M Aw WA i
ufisn & % aEw T wEe i Fan
% fore are ot = w2

(b) =1 wensht SWz @ W e s o 3
7= Tl s=mm @ fmmm & odem &
for smavas #id fasiy aeaEs @ < &
a1 | AeE w98 W A ¢ e
ot ==fF % =2 5 2

(c) = wemell AWz aa W fEn s W@ B
W A % W 98 Gem o oW
M & Gm o=fe # ossmw @
femmor & fom S s AR W
4 % Tom W ot fFr T &, SR =
o T Hom |

(d) Tt Tasm om T wesh # faw
aeeit awe S fan s a2

128. v 9= d@fgen, 1860 % snfm fram % s,

Frafertim & @ FR-m /3-8 wmia 2/82

1. Tet =afr @t 30 siwg | wfmw 3 f
T8 30 ARG F e Fetem s =
W w4 5 fom aeifam o f =hE
#1 gafery, gam 2 7 399 18 e =
e e @

2. R At o EE w9 ElE Frars
F T

3. @M, Y9 T WEREE % ' #E ue
FAT AT W ST

2 o g w1 v e 3w gf

fa) 13w 2

(b} 133

fe) A 3

(d) 23R 3
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125. Congider the following statements with
regard to search under the Code of
Criminal Procedure, 1973 :

1. A search warrant remains in force
until cancelled by the court issuing

or the same is executed.

2. A search warrant cannot be
executed at any place if the place
concerned  falls  outside  the
jurisdiction of the court issuing it.

3. A search warrant may be issued by
the District Magistrate for search of
a person who has been confined
where such confinement amounts
to an offence.

Which of the statements given above
is/are correct?

fa) 1 only fb} 2 only
fcj 2 and 3 fd] 1 and 3

126. Consider the following statements with
regard to seizure of property under the
Code of Criminal Procedure, 1973 :

1. Any police officer may seize any
property which may be suspected
to be stolen.

2. Any police officer may seize any
property which may be found
under circumstances which create
suspicion of the commission of any
offenice,

3. I« the valuc of the property seized
is less than one thousand rupees
and the person entitled to its
possession is absent, the court may
direct its sale by auction forthwith.

Which of the statements given above
isfare correct?

fa) 1 only fi) 1 and 2 only
fer 1, 2and 3 (d] 3 only

KASC_A_GIP/ISSA
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127. Which one among the following
statements is not correct?

(a)

(b)

fc)

(d)

A Magistrate may issue a warrant
to search a document or parcel in
the custody of Postal or Telegraph
authority.

A search warrant may be issued
when it is not known to the court
that a particular document or thing
necessary for the purpose of any
investigation or trial is in the
possession of any person.

A szearch warrant may be issucd
when the court has reason to
believe that the person who has
been issued summons to producc
a document necessary for any
investigation or ftrial will not
produce the same.

A search warrant may be issued for
general search of a particular place.

128. Bribery, under the Indian Penal Code,
1860, includes which of the following?

1.

Giving a gratification to any person
with the object of inducing him to
exercise any electoral right or
rewarding any person for having
exercised any such right

Making of a declaration of public
policy or making of a promise of
public action

Giving or accepting a treat in
the form of food, drink or
entertainment

Select the correct answer using the code
given below,

(et}
(b}
fc)
(cd)

1and 2
1 and 3

3 only
2 and 3

[ P-T.O.
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129, F=fafas 4 @ $H-w1 o wiaufs fee 27

fa) T Fregr =i swm

(b) THE SR S S
(c) TEE e sfawR wRE A
(d) TEE FAFTHEE A

130, WHY wAfEmn g sfufem, 1993 # @4 4,

TrafafEs & & F9-m =u= o 27

fa) el =0 OFE sIftER w9m F e
3 dg@ waw ufe ad 1 wahr 7=
T 9 U T B

(b Tt v=m wFE wifiEn aEm # s
3N v Faw B o F T aen
9% HEO FA B

fc) TrHl T=9 UE sifter @m % sy
W gem o9 9 B ol 9% o W=
arw wd £ afR 3 gafigtE & um e 2

(d) Tt o= g arfien i F oaeam
3N wew Ui 94 & uF ai aEta &

T gty fg = == &)

131. W= s geam sfafEm, 1003 % Wy 4,

Frafafaa sual @ faan fifau .

1. W oHa afben smEm 8 -8
uF uigen == =1 B qEd 2, T
oHE il | gafun gt = o939 @
aEiE 39vE 81
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2. UM uEE AR wwEm # sn-d-en
o Tl # e st R, S oaee
ARl @ waftm st @1 3R W
R ST B

3. Fame % v og@ angw = Faa
F8 W % fom wim oma aftew
HTEF 1 FE GHS A B

I FA A B TH-A AN w8 R
(a) e 1

(b) Faw 2

(c) a2 3 3

d 1,233

132, WA & "faum w1 fr=fefas § @ £9-m 3=y

Fraw g & wafim 87

(@) AT 19  (b) IR 20
(c) FTT21 (d) g8 22

133, WA % #RYW % Fefviaa 4 @ f e

% fFr T HenE Wy sm A T RE
2T

(a) FigwR 20(1)

(b) FT=I% 20(2)

fc) wr=eE 21

(d) T2 22(4)

134. WRd * HEYR F A= 22 % @;HE

fr=fefias & & w-m aften firem ffe

win freg v m fdi =af % oo me ww @

Iy T 27

fa) THEE 94 F1 AT

fb) Pl % wwwil w5 W= w5 Al

fc) Wz & witen * fn firged @
g w2 fit oEfy @ afvs wefy ¥
fer, fowg, =t 19 =1 arfiEm

(d) ot =g & el faft sraeeh 2o o
Al 99 1 AR
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129. Which one of the following is a

constitutional body?

fa] The National Commission for
Backward Classes

fb} The MNational Commission for
Scheduled Tribes

fe} The National Commission for
Protection of Child Rights

(d) The National Commission for
Minorities

130. Which one of the following statements

with regard to the Protection of Human
Rights Act, 1993 is correct?

fa) The Chairman and Members of a
State Human Rights Commission
hold office for a term of five years
only.

fb) The Chairman and Members of a
State Human Rights Commission
hold office for a term of six years

only.

fej The Chairman and Members of a
State Human Rights Commission
hold office for a term of three years
and are eligible for reappointment.

{d) The Chairman and Members of a
State Human Rights Commission
can be reappointed for one more
term of five years.

131. Consider the following statements with

regard to the Protection of Human
Rights Act, 1993 :

1. Tt is mandatory to have at least
oine woman Member in the National
Human Rights Commigsion having
the knowledge of, or practical
experience in, matters relating to
human rights.

UPSC Exam -
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2. It is mandatory to have at least
three Members in the National
Human Rights Commission having
the knowledge of, or practical
experience in, matters relating to
human rights.

3. The Chiel Commissioner for
Persons with Disabilities is deemed
to be a Member of the National
Human Rights Commission for
certain purposes only.

Which of the statements given above
is/are correct?

fa) 1 only

fb) 2 only

fey 2 and 3 only

fd) 1,2 and 3

132, Which one among the following

provisions of the Constitution of India
relates to preventive detention?

faj Article 19 fb) Article 20
fc) Article 21 fd) Article 22

133. Amendments to which one among the

following Articles to the Constitution of
India have not been enforced till now?

ja) Article 20(1)
(b} Article 20{2)
{c) Article 21

e Article 22{4)

134, Which one among the following rights is

not expressly provided under Article 22

of the Constitution of India to a person

who has been arrested and detained?

fa) Right to get bail

fb} Right to know the grounds of arrest

fcj Right not to remain detained
beyond twenty-four hours of arrest
without the authority of a
Magistrate

fd) Right to be defended by a legal
practitioner of his choice

KASC=-A=IP/S55A [P.T.O.
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135. %8 Wi ", 1973 % R finww fee m

=1+ + T 8 gafie Rofefas s
Taam fifeu -

1. Trwem frn m et =fe =1, =em
T faftm ft &, =g $ fivme =9 %
o amdm fem = m=an 2

2. 3t frwar fre o=t 6 s =@
L e e e e e
foas 8, o @t et 4 fwmen whEn
=t difsgtard s=wa it wfzw)

3. afg fimmea w0 awn =atw AEfes @
it =9 | o B, 0 3w &
wdas 1§ fap s sfar w8 2

I FUA A F AW A0 A g/
fa) %49 1

(b) TFEE 1 3R 2

fc) FaA 23R 3

(d 1,233

. W & wium % Frefofaa 4 @ fee gwEy §
e, oM R T v 1 g=in e S A
THl YN w1 = w99 viatg e g,
wg o= W o G R ¥ et
weEl % fow sfEd @ aftifim =0 3
ot woft e

(@) =% 23
(b) =BT 24
fe) wg=aR 25
(d) w{wde 26
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137. WRHE am wfafem, 1872 % adf= ‘o’ o

w7 FifiE #7

1. Fw, 5 st 9 ¥ e & gag &
g, 3@ =weE e wee sl g
o = i o ¥ R, W e R

2. =Eed & e % o S R e ad
T, Tl e ahee e
g

4 faw e gz = wEm R el s g

faj F=e 1

{b) e 2

fe) 1 3R 2

(dj I 1ERIH2

138, widig @y wAfhtEw, 1872 % Heg 4,

freferfis fafvs wamt 4 & F9-m o =6

7

(a) ¥ "9 & & Amew el am 6
IR F H, TE A 4 AT
W F Afhd g ue weEm, Ak §w
ArTier 8 fEn o R, @ o6 waa 6
TR L HE

(b) vt Ty 2 omem B oaa 6
IR HwON, T@ TEEE TH A #
aifaa g, oft @e T T# e
STl 2

fc) wE @Y & fF mwem e oae 6
IO FT, FE A dqg oA
T

(d) e fF v aea el s e # faas
g qifm o R, aet e 3w
UF 99 & WifdE 8 9W W O3 #79 w
aifid Amm 3R W TEfae w3
e % o weg fan s = g
#m
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135. Consider the [ollowing statements

relating to identification of arrested

perzon under the Code of Criminal

Procedure, 1973 :

1. An arrested person can be directed
to subject himself to identification
in the manner prescribed by the
court.

2. [If the perzson identifying the person
arrested is mentally or physically
disabled, the identification process
must be videographed in all cases.

3. The supervision of a Magistrate is
not mandatory if the person
identifying is mentally or physically
disabled.

Which of the statements given above
is/are correct?

(a) 1 only

b} 1 and 2 only

fcj 2 and 3 only

f 1, 2 and 3

. Which one among the following
provisions of the Constitution of India
prohibits forced labour such as traffic in
human beings, Begar and such other
similar forms of labour, but does not
prevent the State from imposing
compulzory service for public purposes
without discrimination?

{a) Article 23
(b) Article 24
fe}  Article 25
fd) Article 26

KASC-A-GIP/55A
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137. What does ‘evidence’, under the Indian

Evidence Act, 1872, mean?

1. Statements in relation to matters of
fact under inguiry which the court
permits or requires to be made
before it by witnesses

2. Documents produced for the
inspection of the court including
electronic records

Select the correct answer using the code
given below,

fa) 1 only

() 2 only

fe Both 1 and 2
{d) MNeither 1 nor 2

138, Which one among the following legal

propositinns is not correct with regard
to the Indian Evidence Act, 18727

[a) When there is a provision that the
court may presume a fact, it may
either regard such fact as proved
unless it is disproved or may call
for proof of it

fb) When there is a provision that the
court shall presume a fact, it shall
regard such fact as proved unless it
is disproved

fej When there is a provision that the
court shall presume a fact, it may
call for proof

fd) When one fact is declared to be
conclusive proof of another, the
court shall, on proof of one fact,
regard the other as proved and
shall not allow evidence to be given
for the purpose of disproving it

[ P.T.C.
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139. wrdlm @e AfefEm, 1872 F sl

‘e’ # A S e T e

(a) wfwe

{b) HETEY

fc) TafEE =mamdn

fd) wwu eR % fom 39 = & mitea =

140. F=fafas & € e amet & 90w e 3

iR =2feh 3 SRl % s & fom frga
it st Fr?

fa) Ste Feo TG F9W vlm FTw T
(b) AN FAW TR I 92 T
(c) ¥ e F9 faew =y

(d) HHEG HZAT FH YA H§Y

141, g1 =1 Atrwr wfufram, 2005 #i f=foafe

ymett 4 @ S anfw, wER g wfm
v i g waEl w o e afiEn
* srform R wafim go & vl @ w2
T R7

fa) ©WI 18
(b) €T 20
fc) HWI 24
(d) €T 26

142. Refefiaa 4 4 F9-m w6 7# &7

sherifirm famme wifufem, 1947 & wm 10A
* i fam F sy % o S fdn
& =1 W

(@) FE & wE e far oo g @
el ol

(b) & Frrers o wden faae i aremag
% Tore FEfiw fohe s+ & for e

KASC-A-GIPf55A
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) TaEm #t g 10 % =g FERe o
T+ @ | m Fifim e W & wam
Tt oft Ty

(d) T =IfE m =l =i, S e
+A0 ¥ TafEe e m

143, wife faam wfufmm, 1947 % anfim et

Hiuvia & wFeE W@ aie B9 F geEy |,
Frfeafian 9 & Fm-w ®y= ot a9 27

(a) #A =rETE, AEm @ e sl
1 7 Tl aromem duw @ wfiEnf,
e wam g T afufels & oo
&1 A ¥ 30 B 6 weei F fe
W e s

(b) wfafol, i wEr 30 5 TEE
# arfre @ 30 B % sEEn W wedE
|

(c) uf oyfem waR 1 72 1 & % we
AdHEEy] W oU9E T a9 s
Al W o iyl w0 waEl s
FE=A #m, @ agfe R i =
awdl & B 30 B9 6 Femafy % sEus
o off tEr sifufofa yeda =8 fm

(a) TR wfefol w5 sweddn @ § gy
A wfam w4 Fiee ofweal sk
§ 3 wwe w1 R wm wited w5
ARl Hehia #0d i savEaEd A6 2|
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139. ‘Court’, under the Indian Evidence Act,

1872, does meot include which of the

following?

fa] Magistrates

{b) Arbitrators

fe)  Civil Judges

fd) Persons legally authorized to take
evidence

140. In which one among the following cases,

the Supreme Court issued detailed
directions for the protection of the rights
of the arrested person?

fa) D. K. Basu vs State of West Bengal
{b) Lalita Kumari vs State of UP
fc/ Rudul Sah vs State of Bihar

{d) Parmanand Katara wvs Union of
India

141. Under which one among the following

Sections of the Right to Information Act,
2005 is information pertaining to
violation of human rights not exempted
from disclosure by intelligence and
security organigations established by
the government?

fa) Section 18

fb} Section 20

fci Section 24

fd] Section 26

. Which of the following is not correct?

A voluntary reference of dispute to
arbitration under Section 10A of the
Industrial Disputes Act, 1947 can be
made

{a) where the industrial dispute exists
or is apprehended

(b} when the employer and the
workmen agree to refer the dispute
to arbitration

KASC-A-GIP/5BA
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fej at any time before or after the
dispute has been referred under
Section 10

{d] to such person or persons as may
be specified in the arbitration
agreement

among the following
statements in respect of publication and
commencement of an award under the
Industrial Disputes Act, 1947 is not
correct?

fa) Ewvery arbitration award or award
of the Labour Court, Tribunal
or National Tribunal shall be
published by the appropriate
government within a period of
30 days from the date of receipt of
any such award.

{h) An award iz enforceable on the
expiration of 30 days from the date
of its publication by the appropriate
government.

fe) The appropriate government can
declare that such award is not
enforceable EVEn after the
expiration of 30 days, in case it ig
of the opinion that it is inexpedient
on public grounds affecting the
national economy to give effect to
the award.

fdj The powers wvested on the
appropriate government with
regard to making an award
unenforceable are absolute and itis
not required to refer the matter any
further to any other authority.

| P.T.O.
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144, i fEr wfufmm, 1947 % sl

‘s’ ¥ vimi, Frefafe § @ fem ao
1/Fa Aot % =3 s 2/ §7

1. Tl zam 4 wematE =@t w5 St %
fon Fitferm =fr

2. Tl 3eim & ot @t w5 & fom
Frfaa =i

3. Tl = % stfted o sdedl & &y
ERECIE D

4. fodt s 4 dfeames =@l = w0 =
o frifie =afe

9 faw o 2 = Wi = A I gh
(a) %AW 1

(b) =@ 2 3R 4

fe) 2,334

(d) 1,234

145. Ffofan & & ®q-m, 90 A i 4 @@

27

fa) X wfemEnfian #1 Wg = @ 99 W A
daradl & Fomw & o 2

(b) X % FErm afm = a=dwmw 16 G
M F ForawEy IHH TG F9W W
It &

fe) X % Trres g & o =awm @ 3wh
Han TuTH A A g

fd) X % SR SHaE & w9 4 G
72 ¥ Forasd 30 TEem w o wEem
= fean = &
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146. Frfufan 4 & fea/fed sifir P =

=g A witga fEn s v 27

1. AR Farem s wwn $i 8, a9 sea
FiHr # fFf freem 8 oe-amed
A g el 2 fowd @8 30 gden % wwa
T g 0

2. afk Fooea seaelt wwr @ B, @ a®
=fF F 13 it 8 F9 F o s
=0 4@ B, 5@ ' 3w gdew % wmw
Frarfea =6 & fom gud @

3. afR Roawem cael gew & R, A go@ w
%8 Pl § sadht Suh-amdd = @
st &, o em w7 & o mm g &
auy wad a1

#re faw T gz W W = I g
faj 233
(b} 13W 3
fc) %= 3
(d) = 1

147, 9 wigmr wfafem, 1023 % s,

frafafEa 4 & B aoel 8 =6 fges
ufteRt =1 e-er Bt

1. = Tt bt =1 s Fraem @ agE
g1 g At afe wifa el 8

2. w@f gft & #rm @ R’ ¥ fom oof
furean Teet 2

3. @ wAH! W I A F A °
Fafeeer wfa i €t 2

A fou o 5 = W W w3 g

fa) Fa 1 302

(b) F=a 2 3k 3

(c) Faw 1 3R 3

(d) 1, 2303
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144, Which of the following categories of

persons isfarc ‘workmen' under the
Industrial Disputes Act, 19477

1. Persons employed to lock after the
administrative functions in an
industry

2. Persons employed to do technical
work in an industry

3. Persons employed as officer or
employec of a prison

4, Persons employed to do operational
work in an industry

Select the correct answer using the code
given below.

fa] 1 only
fb} 2 and 4 only
fc] 2, 3 and 4

{d 1,2 and 4

145. Which one among the following amounts

to retrenchment?

fa) X retires from his services on
reaching the age of superannuation

(b} X is terminated from his services
due to non-renewal of his
employment contract

fe) X is terminated by his employer for
any reasons whatsoever

fd} X iz terminated from  his
employment by way of punishment
inflicted by way of disciplinary
action

KASC-A-GIP/55A
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146. Which of the following can be said to be

classified as partial disablement?

1. Inm case the disablement is
temporary, it reduces the earning
capacity of the employec in any
employment in which he was
engaged at the time of the accident

2. In case the disablement is
temporary, it disables the person
from performing all works that he
was capable of performing at the
time of the accident

3. In case the disablement is
permanent, it reduces his earning
capacity in every employment he
was capable of undertaking at the
time of the accident

Select the correct answer using the code
given below.

fa) 2 and 3

fb] 1 and 3

fej 3 only

fd) 1 only

147. In which of the following cases will

an employer be held liable to pay

compensation under the Employees'
Compensation Act, 19237

1. Where a personal injury is caused
to an employee by an accident
arising out of his employment

2. Where the injury caused results in
total disablement for two days

3. Where the personal injury to the
employee is caused in the course of
his employment

Select the correct answer using the code

given below.

fa) 1 and 2 only

{b) 2 and 3 only

fc) 1 and 3 only

{d} 1,2 and 3

[ P.T.O.
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148, Fut wfr afufm, 1923 & wed &, 3. el Ut gz & %, Wl wm afufem

Fraferfia § @ #9-3 #9978 87

(a) ¥4 siffEm % T @37 vy af @
wd-wifgs wem w=daft & fim fah
=iw Ft TRIRE T Wit o1 "
A I B wE

(b) g B Uiee 1 gE W s fen
W HEW, e @ ghen # w6
uTed B * v e 4 ol wy

fe) Ad-milrE dem WW w0 5 fee sifuEn
w1 Arew Tl off ofEufs § et we
TR F HEE T @ R W g B

(d) =EH f T # =l @ % e A,
Affrm % anf 937 apd-mits @2
i1 qAfdeie g g fEn o asm)

149, =dart ufre ffy fw whmi Ty wfufem,

1952 % il sdart wias Al =fm &
Il % WA # 92 3 & gay A, el
FoH  fomm ifem .

1. 4ft ayfen wewr f 72 T8 2 R R
WE F afimE i w % wEa g
ufrer fify % fm, @ sfafem W
fafafde Frami €1 st @n s = €,
At g2 9 = wh

2. #R fedt o % wiadl, when fafy,
T¥F 41 3uaH ) i o g
I W R Y, S o wgRwe f
A F0 AP T ¥ S ozm sfufem
% anfn 3uafia &, o g2 4 o g
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wdF wfmEE (v 6) iR Pt g
T O 1 SEURO (9T 7A) | wEiya
IqaE AW T E |

I A T R -0 R
fa) Fae 1

) FE@ 2 #An 3

¢ 1,2%R3

([d) Faa 1 #r 2

150, §oie W18, M AEwd, whEw ar gPe

Hftrr & ooy e wefardt £ ARm w &

anA, e famr aftfem, 1047 &

wdm #E Foemw Faffes § 8 Sw-dt

HHar T F T

1. 39 9= I #, W UE wEEanh % e
4 3% vt feedt wdwm W A Ee g,
foae 4 wwww fdl v & an 1
gitafda s

2. T sdwn =i fda fGam @ =mow
el srTar % o sifm = o i
11

3. Tl wifim wHer =, % feg

s sl ofem wE ¥ wam
T A 41 afEa w7

4= fw gz = Wi = w3 g
fa) F=@ 2
(b) F=F 3
fe) 132
(d) 1%R 3
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148. Which one of the following statements 3. Where such exemptions have been

in the context of the Employees’
Compensation Act, 1923 is correct?

fa) The lump-sum or half-monthly
payment payable under the Act may
be assigned or charged or liable to
pass on to any person other than
the emplovee.

fb) A notice of compensation may be
entertained by the Commissioner,
even if the notice of the accident
waes not provided when the accident
occurred.

fc) Any right to receive half-monthly
payment can under no circum-
stances be redeemed by payment of
a lump-sum of such amount.

fd} The half-monthly payment payable
under the Act may be reviewed by
the Commissioner in case there is
a change in the condition of the
employee,

149, Consider the following statements in

respect of granting exemption from the

operation of the provisions of the

Employees’ Provident Fund Scheme

under the Employvees’ Provident Funds

and Miscellaneous Provisions Act,

1952

1. In case the appropriate government
iz of the opinion that the rales of
provident fund as to the rate of
contributions of an establishment
are not less favourable than those
specified in the Act, exemption may
be granted.

2. In case the employees in an
establishment are in enjoyment of
benefits in nature of provident

granted, the provisions regarding
contributions [(Section 6}, and
determination of money due from
employers (Section TA) under the
Act, will not apply.

Which of the statements given above
isfare correct?

fa) 1 only
fb) 2 and 3 only
fef 1,2 and 3

{d}] 1 and 2 only

150, During the pendency of any proceeding

before a Board of Conciliation, Labour

Court, Tribunal or National Tribunal,

which of the following actions cannot

be taken by an employer under the

Industrial Disputes Act, 19477

1. Altering in regard to any matter not
connected with the dispute, the
service conditions applicable to
a workman immediately before
the commencement of such
proceedings

2. Discharging or punishing a
worlkiman for a misconduct that is
not connected with the pending
dispute

3. Discharging or punishing a
protected workman after instituting
a Disciplinary Committee apgainst
him

Select the correct answer using the code

given below,

fund, pension or gratuity, which fa) 2 only
are not less favourable to the (b} 3 only
employees than the benefits ;
provided under the Act, exemption 6 land3
may be granted. {d) 1 and 3
KASC-A-GIP/S5A [ P.T.O.
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